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There are SEVEN (7) questions in this section. Answer ALL question in the answer
booklet.

(75 Marks)

1. There are 20 Malays, x Indians and 10 Chinese students in class 5A. Find the value x

for each of the following: (5 marks)
a) if the probability of choosing Malay is g (3 marks)
b) if the probability of choosing an Indian student is% (2 marks)

2. A stall sells potatoes. The weights of potatoes are normally distributed with a mean of 85
grams and standard deviation 5 grams. Five potatoes are chosen at random, find the

probability (10 marks)
a) exactly three of them weigh more than 82 grams (5 marks)
b) at least one tomato is more than 82 grams {5 marks)

3. The table below shows the years of experience of 120 employees of Uni Razak.

(15 marks)
Years of experience Number of employees

1—4 16

5—-8 20

9—-12 28

13—-16 24

17 - 20 16

21—24 1

25— 28 5

Calculate:

a) Mean (5 marks)
b) Median (5 marks)
¢) Mode (5 marks)
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{10 marks)
a) Find the skew of this data set:
2,2,3,4,5,6
Calculate Pearson’s Coefficient of Skewness for above sample. (5 marks)
b) Find the standard deviation of the sample data below:
3569 (5 marks)

If the probability that a relationship will end in a breakup within 2 years is 0.3. Find the
probability that in a sample16 couples,3 or less will end in breakup within 2 years of the
relationship. (15 marks)

The number of trees planted at FRIM is not more than four trees in a day.
The probability that there is no trees planted in a day is 0.4 and the probabilities that

there are at most one, two and three trees planted in a day are 0.7, 0.85 and 0.95
respectively. (10 marks)

a) Construct a probability distribution table for the number of trees planted. (5 marks)
b) Calculate the mean of the number of trees planted in a day. {5 marks)

The masses of guavas in a farm are normally distributed with a mean p and a standard
deviation, o.The mass of percentages of guava that less than 400 g is 15.87% and more
than 500 g is 6.68%.

Determine the values of u and o {10 marks)

*** END OF QUESTION PAPER ***
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